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1 Al IET 40 37 77
2 SH BT 38 42 80
3 B FE 41 44 85
4 Bl ALY 46 43 89
5 = EBEXx 45 45 90
6 SR HETF 43 48 91
7 BER BT 46 46 92
8 b = 46 46 92
9 Fe NI 44 48 92
10 =R Ex 48 45 93
11 X =T 46 48 94
12 wA E 46 48 94
13 S5H R¥F 50 45 95
14 I OFETF 45 50 95
15 ez EF 50 46 96
16 AMA FTF 46 50 96
17 FE O TOZF 53 44 97
18 Wr =T 50 48 98
19 B BEETF 49 50 99
20 ME =% 50 50 100
21 HO #HF 54 48 102
22 BAE ¥ 52 50 102
23 FEE EET 50 52 102
24 JIig BRI 50 52 102
25 PR RT 48 55 103
26 A HET 51 53 104
27 EH =i 50 54 104
28 . BN 51 56 107
29 PR RF 52 56 108
30 N RF 53 56 109
31 B EET 52 61 113
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